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b} Check whether the systeni deseribed by Input_:r{f"}ﬂnd‘w ﬁi‘rﬁ]ﬁb""ﬁﬂ

¥(t) = Geos] x( (1] is fincar or oty ﬂmmmlmtnr
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3. 8) Letasystem isgiven by the input output relation y(f) = rx(r), “th.t ‘*U
)5 ¢
W-ﬂhﬂ :{a‘} 15 the input. Check whether the system is B':Eﬂ rmhlL o g
':'-r Tty ;

~ causal ornot, time in variant or not. . e
b) Find the trigonometric Fourier series of the half wave't

amplitude A given by

- x(r) = Asin (271) {}5;_5_1]_
x(f) = x(e+k) forall integer 'K
¢) [Explain Dirichlet's condition for cmstcncﬁ

_ signal. L
d) Flndmem-tramfurm ofthe signal =S4

x(r) = 13 =t
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uf the S-plane. ’t
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